| SOCIALISM IN EUROPE & RUSSIAN REVOLUTION |

I Exercise

Q.1 The Russian revolution which affected the Q.12
course of world history broke out in-
(A) 1915 (B) 1917
(C) 1919 (D) 1920 Q.13
Q.2 In 1883 the Russian Social Democratic Party
was formed by-

(A) Karl Marx (B) Engles

(C) Lenin (D) George Plekhanow Q.14
Q.3 The Russian Revolution broke out during the

reign of-

(A) Peter (B) Fredrick

(C) Rasputin (D) Tsar Nicholas II Q.15
Q.4 One of the greatest thinkers of the Socialist

movement, and the leader of the Bolsheviks

was-

(A) Karl Marx (B) Engels Q.16

(C) Lenin (D) George Plekhanov
Q.5 A new form of organization developed in the

1905-

(A) Trade Union (B) Triple Alliance

(C) Soviets (D) Mensheviks Q.17

Q.6 Rasputin was-
(A) popularly called the ‘*holy devil’
(B) a minister of the Tsar’s cabinet
(C) a friend of the Tsar Q.18
(D) an advisor to the Tsar

Q.7  After the fall of the Tsar Nicholas II provisional
government was established under the
leadership of-

The Russian people wanted peace, land and...
(A) Clothes (B) Shelter

(C) Education (D) Bread

........... was the leader of Bolsheviks.

(A) Nicholas II (B) Czars

(C) Vladimir Lenin (D) Josep stalian
Duringa .......cocvuus war, people of the same
nation fight against one another.

(A) Civil (B) Military

(C) International (D) All of these

Who was last Russian Tsar ?

(A) Nicholas II (B) Vladimir Lenin

(C) Josep stalin (D) Engles

Whom did Karl Marx say would be ruler in a
communist government ?

(A) Tsars (B) President
(C) Workers (D) Prime Minister

Which group wanted Russia to become a
communist nation ?

(A) Bolsheviks (B) White Russian
(C) Germans (D) French

Which leader took Russia out of the First World
War ?

(A) Nicholas II (B) Vladimir Lenin
(C) Joseps Stalin (D) None of these

(A) Lenin (B) Stalin Q.19 When did the First five year plan start ?
(C) Kerensky (D) Mayakovsky (A) 1927 (B) 1928
Q.8 The Russian Parliament under the Tsar was (C) 1929 (D) 1930
Ei;lii-ngress (B) Duma Q.20 When did the Soviet Union break up ?
(C) Diet (D) Nassat (A) 1989 (B) 1990
Q.9 After the year 1500, the rulers of Russia were (€) 1991 (D) 1992
called -
(A) Tsars (B) General ANSWER KEY
(C) Duke (D) King
Q.10 Under the systemof ........... , the government 1. B 2. D 3. D 4. c
owns all farms and industries. 5. C 6. A 7. C 8. B
(A) Democracy (B) Communism
(C) Dictator (D) All of them 9. A 10. B 11. C 12. D
Q.11 The ......coevvnnnns was fought in 1917 because
people in Russia were unhappy with the new | 13. C 14. A 15. A 16. C
government.
17. A 18. B 19. B 20. C

(A) French Revolution (B) American Revolution
(C) Russian Revolution (D) Indian Revolution






